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9T -1/ PART — |
I fer 9 fEnare / CHILD DEVELOPMENT AND PEDAGOGY
fraer : Frfafaa gt & SR 39 & e @9d SR faswed ghm

Direction : Answer the following questions by selecting the most appropriate option.

[3/A]

1.

IS ®9 § dfd g=a @ oY kel
e 1 {378 IugeRt =il 7

1) eFveie farem
2) fafmse faren
3) GHash faren
4) ot fRrem

frafofag & @ #-@ Fe e

$ T-OEhe O BEd @

%Fvl’ﬁﬁ fPNEer & d€9g ¥ gal

?

1) SE-YeaM & S FHI-gHoTh
75 ol

2) STE-UEaN U FONeTh HAI-SrHIoTh
R

3) OR-Yed TH dqeed Hel-HMINTh
RS

4) E-YEAN Hls FA-GHITE TBY
& & B

TF gL S H g § 9
H-G fgdar 727 3@ o ® ?

1) SgEn Ride
2) Afd ST
3) I HEAN
4) TUNEE o=

[ Level-3/1304 ]

Which type of education would be
appropriate for socially deprived
children ?

1) Informal education
2) Special education
3) Inclusive education

4) Religious education

Which of the following statement is
correct regarding adolescence,
under Erikson's Psycho-social
development theory ?

1) Ego-identity is a positive
psycho-social aspect.

2) Ego-identity is a negative
psycho-social aspect.

3) Ego-identity is a neutral
psycho-social aspect.

4) Ego-identity is not just a

psycho-social aspect.

Which of the following characteristic
is not seen in a creative child ?

1) Divergent thinking
2) Extreme curiosity
3) High imaginations

4) Conventional thoughts

P.T.O.



[4/A]

4, fr=fafag & @ @=-dt foQwan
IRl @l URRAT T HhIHD
g9 7gf S 8 °

1) GHEIS &4 § @i Faer
2) g T qRER
3) WIS IR @l e
4) HEISH YaiEl & faeme

5. qEFNCEn & HHTE  fwE &
el &y ® ¢
1) =1 @ad ®9 9 R B Gandl

2

2) ST @Wad @9 9 F Tel B
el B

3) = fRel S Al & fRsW #
T HT Gl 8

4) =1 e o @i & hew §
o 1 T HT Gl B

6. IR Hiz Reml N Sudfy =i
& T U B, A IHH BRI A
gmmwwqﬁmﬁmw

?
1) THERHSD 2) feFTEs
3) SWRIEE  4) ITHD

7. “OUEIN %99 &AM @ de &l
Oifg & B, afck e ot fher off
= & SEEHR T B ot 31”7

f3rem § TmEIE & ¥E ofd fFEe
ARV Il G B )

1) Tfo Hio Tho 2005
2) THo Hio o 3o dlo
3) T

4) e

[ Level-3 /1304 ]

Which of the following characteristics
does not have a positive effect on the
process of socialization ?

1) Socially approved behaviour
2) Playing approved social roles
3) Development of social attitude

4) Development of social
prejudices

Vygotsky's 'Zone of Proximal

Development' refers to :

1) What the child can do
independently

2) What the child can't do
independently

3) What the child can do with
guidance of knowledgeable

person
4) What the child can't do even
under guidance of

knowledgeable person

If a learner does not achieved the
expected performance, what type
of testing is done to find out the
reason ?

1) Formative 2) Diagnostic
3) Remedial 4) Summative

"Inclusion is not confined to the
disabled but it also mean no
exclusion of any child."

This meaning of inclusion in
education has been clarified by :

1) NCF 2005
2) NCERT
3) UNESCO
4) UNICEF



[5/A]

8. Q_ﬁi g @ § P9 YR % qRaad 8. Which type of changes occur in

Aq g ? growth and development ?

(@) X & TR H 9Raaq (@) Change in body size

(b) SRR & U H IR (b) Change in body proportion
(c) YU Tl &l foeiia (c) Disappearance of old features
(d) FAI9 faQwarett &1 STREEe (d) Acquisition of new features
@& % B =TT FHIOT Choose the correct code :

Fe - Code :

) (@), (®) W@ () 1) (@), () & (c)

2) (), () W@ (@) 2) (a),(b) & (9

3) (a),(c) W@ (@ 3) (a),(c) & (d)

4) (@), ®), (c) @ (d) 4) (a), (b), (c) & (d)

9. Ffafad & & PHH-A1 HF RN 9. Which of the following statements

& ARH W THRHS TG W< 78] does not explain the positive

Y 7 impact of motivation on learning ?

1) SIERET diEw $ Haer @l & 1) Motivation impairs learning
F & behaviour

2) RO HieM & FaeR Bl 2) Motivation provide definite
ffeaa Ram wom #A B direction to learning behaviour

3) AEReT e & F@ER | 3) Motivation energizes learning
qfkaar A © behaviour

4) TN dEd F FAGRR B 4) Motivation makes learning
CERICACEIRIE behaviour selective

[ Level-3/1304] P.T.O.



[6/A]

10.

11.

12.

PEAT & Ak GEE Eid &

T Afqear @ oTaRel @ Sd

&R { gAfe HifT

At @ St Afcrewar
CIRGES

(a) STB SFqadieds Gy I

(b) AR T fa-w 11

(c) ISR SISy Te i
JafRTE SR

(d) AEHIHE FEm

7&7 FT & I HINTC

&< -
@ M © @

H 1 m uI

2) m m m I

3y I m 1 I

4) 1 I I m

S AT el w o TRl
T 1 IR & AU AW B gE
ST &, O 39 &8 © ¢

frefifeg & @ ®9-@1 &9 Afas
IRl % d9y § TR 78 2 ?

1) 3 gdifEs & ¥
2) 3 TG B &
3) I Hfad WX & oL oTasa® B &

4) 9 g B qERAG 9 geifya T
ad §

[ Level-3 /1304 ]

10. Match the stages of morality with

11.

12.

their level, under the Moral
Development theory of Kohlberg :

Stages of Morality Level of
Morality

(@) Good interpersonal I
relations

(b) Individualism and II
exchange

(c) Social contracts and 111
individual rights

(d) Universal principles
Choose the correct code :
Code :

@ Mo © @@
) 1 111 II I
2) III II II1 I
3) II III I II
4) 1I I 111 111

When the learner learns a task
automatically, without any desire
or purpose, then it is called :

1) Massed learning

2) Whole learning

3) Partlearning

4) Incidental learning

Which of the following statement is
not true regarding biological
motives ?

1) They are universal
2) They are inborn
3) They are essential to survival

4) They are not related with
homeostatis in the individual



13.

14.

15.

Frefafed & & d9-@0 T &
AR A eI Hl AR & ?

(a) fifea (b) A
(c) A@ERE  (d) TN
7l T P TI BT

%c -

1) (a),(b) T (d)
2) (a),(®) W (c)
3) (a),(c) T (d)
4) (a), (b), (c) W@ (d)

frefofeg & @ S9-91 %N
e & ded § 9 78 2 ?

1) ToeieY & qE TART GO Th
ferqres gdierr B

2) i Tdeor  dufede ot
HHieH a1 TR & & Fhd ol

3) oAl aAfe fsaes qhiEer {et
H G|

4) FgmiEh TRl H OgRE B A
fet wd ol BT & R

ST
1) A 3
2) €W GIER|
3) Tk fspar
4) qEY EEREES

[ Level-3/1304 ]

13.

14.

15.

[7/A]

Which of the following
examinations are the basis of
continuous and comprehensive
evaluation ?

(a) Written (b) Oral

(c) Behavioural (d) Practical
Choose the correct code :
Code :

1) (a),®) & (d)

2) (a), () & (o)

3) (@,(c) & (d)

4) (@), (d), (c) & (d)

Which of the following statement is
not correct in reference to
intelligence tests ?

1) Alexander's Pass along test is a
performance test.

2) Verbal test can be either
individual or group.

3) Illiterate people cannot do
performance test.

4) In non-verbal tests intelligence
is measured through pictures
and figures.

Which of the following pair is not
correct regarding elements of
intelligence and their dimension,
under the Three Dimensional
Intelligence theory of Guilford ?

Elements of Dimension

Intelligence

1) Unit Product

2) Cognition Operation

3) Evaluation Operation

4) Relations Content
P.T.O.



[8/A]

16.

11.

18.

19.

frffag & @ ®9-G 99 s

;ﬁmﬁ e A wgE fadw 78
?

1) TefE dEN & oEEr

2) UHd [T 7R

3) ¥ Yok
4) gaw e i

g0 & , UEOTESE dE @
-4 S ST 7

4) T HIE (3T5H) qeH

[ Level-3 /1304 ]

16.

11.

18.

19.

Which one of the following is not a
key feature of child centred
learning approach ?
1) Meaningful
opportunities

learning

2) Single learning pathway
3) Continuous assessment

4) Accessible learning settings

According to Bandura, which is not
the interrelated processes of
observational learning ?

1) Attentional Processes

2) Retentional Processes

3) Motivational Processes
4) Conjunctional Processes

According to Bandura's Social
Learning theory, what is it called
when a person learns the same
behaviour by observing and
repeating the behaviour of others ?

1) Adaptation
2) Self-observation
3) Modeling

4) Efficacy expectation

Which sub-component is not included
in componential intelligence under
the Stermberg Triarchic Theory ?

1) Meta component
2) Experimental component
3) Performance component

4) Knowledge acquisition component



20. TF oMfFm fElEar St SiERrE

21.

22.

23.

P B SATETT H TAIT HA & ¢
1) eagear 2) feenfter
3) fewifrmr  4) feadifmfemn

e & AR 9w fasid @l

urEl ofaeenelt & @@ W H T

FifoTq

1) gEEen — i ggeEeEr -
HTFEGRT - R -
SEEIT-2CI)|

2) TEEEl — FEEEe — [
TR —  SeArEdEelr —

BRCICESl]
3) JEEEl — TEERT — [
JOERT - SfeFEER -
EREIE-RICIS|

4) FFFER -  EEE -
QR — S — &
e

YoqE & e ofEed oM
SEITH! & SRIAHT BN HIA-AT BIicTh
9 e H s geiad B ?

1) HHFITH 2) focifea
3) Gad 4) G
e & GeMies O RS @
fpg  ofawem  H faq  an

%vsrr:rmﬁw B AT BRI B Sl
?

1) GIE-THh

2) Yd-GfHAS

3) Yai-HishareTeh

4) SNUEREG-HiATHED

[ Level-3/1304 ]

20.

21.

22.

23.

[9/A]

A learning disability that affects the
acquisition of arithmetical skill is :
1) Dyscalculia 2) Dysgraphia
3) Dyslexia 4) Dysmagnisia
Choose the correct sequence of

the five stages of Freud's Psycho-
sexual development theory :

1) Oral stage — Phallic stage —
Latency stage — Anal stage —
Genital stage

2) Anal stage — Latency stage —
Phallic stage — Genital stage
— Oral stage

3) Oral stage — Anal stage —
Phallic stage — Latency stage
— Genital stage

4) Latency stage — Anal stage —
Oral stage — Genital stage —
Phallic stage

According to Pavlov's Classical
Conditioning theory of learning,
which temporal sequence
presentation of natural and
conditioned stimuli will most affect

learning ?
1) Simultaneous 2) Delay
3) Trace 4) Backward

In which stage of Piaget's Cognitive
Development theory does the
ability of abstract thinking and
generalization develop ?

1) Sensory motor

2) Pre-operational

3) Concrete-operational
4) Formal operational

P.T.O.



[10/A]

24.

25.

26.

21.

gicenanen foenEt & fog Frfarad
T B9- Afeep a8 T
qieq ?

1) @ Uode dF & G

2) @
3) YRS [Rreror
4) HadS HEFRH

frafofag & @ aF-or uEsh Ren
H T Sid & ' 7

1) TRl Al RS

2) T @ f=ia

3) fafgear @ sis9 79 &1 sid
4) T & R @& i

frfafad § @ PM-a1 de Jafs
Rreraiell & ogaR Reor & gwedq
7&f e ?

1) et @ w91 @9

2) JARTE TR

3) UIgHH IR

4) el & swaet &1 F

e aFRael  a S== @
dAF@EHEN B W W H Jehm
eI & g & S 7

1) o1 9e9EG & foened ® yaer &

2) gaw g gREmd e e

3) I AT STETHar B TEAI
Ud GO § 9T T

4) I° HAEWH HEEdl Ol GEN
HET

[ Level-3 /1304 ]

24.

25.

26.

21.

Which of the following educational
arrangements shouldn't be made
for talented students ?

1) Opportunities for independent
project work

2) Acceleration
3) Remedial teaching
4) Enrichment program

Which one of the following is not a
principle of inclusive education ?

1) Principle of segregation

2) Principle of cooperation

3) Principle of celebrating diversity
4) Principle of right to education

Which of the following way does
not support the teaching according
to individual differences ?

1) Large group of students

2) Individualized instruction

3) Curriculum adaptation

4) Knowledge of student's abilities

Which is not a role of educational

institutions in addressing the needs

of children with special need ?

1) Admission to school without
discrimination

2) Provide accessible
infrastructural facilities

3) Identify their special needs

and exclude them from
mainstreaming

4) Provide necessary support
services



28. =g & @ d9-91 09 O &

29.

30.

g § 98 78 B °?

1) fobE 9RuEar ud o @
IR B

2) URMS fard & o § S© &l
foeprg atfres iR 2 B

3) fomm for @ W & fRsm & oM
T 2

4) [TFE =G o9 ¥ B8R & X
el 2|

qurash frem # B feia ke
& Sfoded fekar @ ?

1) By, W wd Rwnas
2) X Td farnt

3) HGAY TG B

4) e, Sfaq T T

d gRugEar TN’ Al & I8
g fhes a o & i R ?

28.

29.

30.

[11/A]

Which of the following statement is
not correct in context of

development ?

1) Development is the product of
maturation and learning.

2) Later development is more

critical than early development.

3) Development proceeds from
head to foot.

4) Development proceeds from
central axis to extremities.

The three dimensional model of
the inclusive education

propounded by whom ?

1) Criffith, Cooper and Ringlaben
2) Gartuer and Lipsky

3) Kauffman and Hallahan

4) Levenski, Davis and Hooper

"Socialization means attaining of
maturity in social relationships."
This definition of socialization is
given by whom ?

1) S+ S 2) Me 1) JohnDewey 2) GCarret
3) dR=a 4) &WH 3) Soremson 4) Hurlock
[ Level-3/1304 ] P.T.O.



[12/A]
ART— 11/ PART = I

A1 (=Y wd Si¥sh) / LANGUAGES (HINDI & ENGLISH)

f&=t (HINDI)
fraer : fefafad gl & SR 39 & e @98 S fasked g

31.

32.

33.

34.

fqQwer & deg & dHi-ar @é gatad

7ET T 7

1) ARG - |5 9 i &L

2) Ui - fAueT @ IawEe

3) UREH - JUrErE Qe

4) Y - G § WHq HEaEs
Ell

forg foecy # =-g &1 TE 7Y AT
78 5 ?

1) SEf - @, 9 - e

2) WY - g, 79 - gEA

3) W - T[«ll, AT - Sl
4) THI - T, g - |

HI-91 H @ 7T © 7
1) g - d 9=
2) HE® - TGHd 9=
3) Ra=dl - IV =
4) VA - fRe™ o=

frefafeg & @ 59 faed &1 9=
wfy-faees # e @ T ® 7

1) FUEE = FI + o6

2) I = aar + ST

3) AMHIN = T + 0

4) TgH = Y + A

[ Level-3/1304 ]

35.

36.

31.

38.

fp faheq & TR W Sl
THE B ISET 78 & °

1) S, faEe
2) dHsard, RS
3) YA, HarE
4) UERR, qgqufa

frg faeq &1 = ‘o ITEd A
T 7&f = ?

1) AN

2) it

3) I

4) IFER

e # 9 e 9w @ 9= foeee
gt | fafa € °
1) edtad, siferEr
2) ST, FHHET
3) Regd@R, ST

4) R, TNl

EaE 9|l ® g9g ¥ -
fereq ofgfaT @ °

1) I=A1 - fEART, gy, wede
2) &S - G, guH, HaT

3) T=A - TNEN, JAge, QU
4) T - FERAICH], ST, YR




39.

40.

41.

42.

A 3fte & e faeey & ot 9=
g ?

1) T, @R

2) TG, SR

3) e, stfewn

4) RF, ™

‘TRIHT Tl 7 ARG H SR S’
ST I § @ifed I HA: R

1) SHiFddres Hs qeT Sicaraeh G5l
2) STfdarEs H5 qeT Wiades G5l
3) SAlddrah Gsll T Afkiars ds
4) HEqED G AT Alddreh G5

Fr=1 & & e qerer & ord ' 78

g7

1) T W ) LT BN - SR
BTl

2) Y F BT T A - foFT O™

& Pz T U HT A
3) TH gE UM UMT - THdl &)
LS SUREIT

4) HM ¥ AR a1 - B @
CEREREIl

fpar & dey § orgfad faeed g ¢

1) $H & AER W fbar & ‘Gehis’
T ‘ATHHE A HE AW S B

2) gﬂﬁﬁ@ﬂéﬁﬁiﬁﬂﬁ%ﬁﬁ?ﬁ@?ﬁ
l

3) ‘far @ | o forgamn 21’ S
qrR # IR AT SgE &% o

4) ‘SiEEr, WA TE AT
AT BRa % SRR B

43.

44.

45.

[13/A]

M B e ¥ PN-91 B FET

g ?

1) T % MR W 9999 & B8
AT

2) ‘B JA FY  ACREIIEE
M I g

3) ‘TEYEEE AW & IR WE AW
SIS

4) 59 Ga9M o Joa & 9 AUdr
[ B B aEg B A A R
S8 MyegarE® 699 Fed ol

e faey 4 Rodaeis 3= ommT
T 7

1) T - Jaed

2) T - HEE

3) & - &g

4) M - WA

qT & [T TR 9= & Geyg H

ST T T
1) S & H g | IFRE T & -
31ag

2) fored #ig = 7 & - vy
3) WYE H W dwril AT - FEr

4) N HGoF WM P fow Sk -
R

[ Level-3/1304]

P.T.O.



[14/A]

Si3sft / ENGLISH
Direction : Answer the following questions by selecting the most appropriate option.

46.

41.

48.

49.

Fill in the blank with the correct
option :

Note it down ........... you should
forget it.
1) that 2) Dbecause of

3) till 4) lest

Choose the correct option that
gives the meaning of the given
idiom :
Spill the beans
1) increase work
2) face a greatloss
3) toleak asecret
4) segregate

Fill in the blank with the correct
option :

The Pak army turned hostile .........
ISIS.
1) to
3) at

2) for
4) with

Choose the correct passive of the
given sentence :

Please give me some more time.

1) Some more time might please
be given to me.

2) Some more time may please
be given to me.

3) Some more time could please
be given to him.

4) Some more time should please
be given to him.

[ Level-3 /1304 ]

50.

51.

52.

Which of the following options
express the correct meaning of the
sentence given below ?

No sooner did I reach the college
than the bell rang.

1) The sooner I reached the
college the earlier the bell
rings.

2) I reached the college and the
bell was rang after.

3) Although I reached the college
the bell began to ring.

4) As soon as I reached the
college, the bell rang.

Change the narration :
He said, "What a charming sight !"

1) He exclaimed with joy that it
was a very charming sight.

2) He exclaimed with joy that
what a charming sight it is !

3) He told with joy that that is a
charming sight.

4) He said to me what a charming
sight it is !

Fill in the blank with the correct
form of the verb :

| a lot of calls today.
1) had have

2) hashad

3) have had

4) had had



53.

54.

55.

56.

Which of the following sentences is

the correct option to express a

probable condition ?

1) If I were a bird, I would fly to
you.

2) If you touch a live wire, you
will get a shock.

3) If you will read this book, you
will learn grammar.

4) IfI had reached in time, I could
have saved her.

Choose the part of the sentence
that is grammatically incorrect :

He thought / he will be able to do /

A B

whatever he wanted / with his job.
C D

1) A 2) B

3) C 4) D

Choose the part of the sentence
that is grammatically incorrect :

The Jews were / most reluctant /

A B
to contribute / in the Palestinian
cause.
C D
1) A 2) B
3) C 4) D

The word 'slither' means :
1) lick
3) hinder

2) venomous
4) slide

51.

58.

59.

60.

[15/A]

Fill in the blank with the correct
form of verb :

WhenIlast ............. her, she was
deeply involved in debt.

1) have met 2) met

3) has met 4) did met

Fill in the blank with the correct
option :

How did the thief ...... the padlock.
1) open

2) opened

3) had opened

4) had been opening

Fill in the blank with the correct
'Modal Auxiliary' :

............. you mind lending me
your pen ? (Request)

1) Should 2) Ought

3) Would 4) Must

Arrange the following jumbled
options in the correct order and
then choose the correct option :

(A) is heartening
(B) is going abroad
(C) the news

(D) that she

1) C,D,B,A

2) D,AC,B

3) D,C,B,A

4) D,C,A,B

[ Level-3/1304 ]
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[16/A]
AT - 1l / PART - Ill
M 31599 / GENERAL STUDIES

RS QdT, diihe STl el 9T S U9 RGBT / QUANTITATIVE APTITUDE,
REASONING ABILITY AND G.K. & AWARENESS
fraer : Frfafaa gt & SR 39 & e @9d SR fawed ghm

Direction : Answer the following questions by selecting the most appropriate option.

6l. I A I RR & 90 W IX fsm 61. If A stands on his head with his
H AR AU Pe H@& @l §, ol face towards North, in which
SHS o By @ feem R direction will his left hand point ?
1) IR-gd 1) North-East
2) Ui=H 2) West
3) T 3) East
4) JA-Uive™ 4) North-West

62. T% A9 20 fhHl g8 & oI & fas 62. A boat goes 20 km downstream in
q U gue H @ oI 333[ N U B one hour and the same distance
o fRem & 2 ¥9¢ § @@ &l %, upstream in two hours. The speed
@ AT ST A9 B A R of the boat in still water is :

1) 10 fHt/=ver 1) 10 km/h
2) 12 fdi /gver 2) 12km/h
3) 13 fdl /gver 3) 13km/h
4) 15 fHl/guer 4) 15km/h

63. 15 oHidl & e H 7 oA fewl 63. In a group of 15 people, 7 read
Ud 8 MM SN Ugd § S 3 Hindi, 8 read English, while 3 of
Tk g GG s R xS them read none of these two. How
‘Eﬁ %, ar ‘iﬂq 9 fhae Al o=t T many of them read Hindi and
ST AT B Ted § 7 English both ?

1) 0 2) 3 1) 0 2) 3
3) 4 4) 5 3) 4 4) 5

[ Level-3/1304 ]



64.

65.

66.

61.

68.

TF Fem § 35 foEnii H, A & w®N
99 7d W@ B & &M IW 4
oF WM W & T C & N 37 Nl
H O AT HE, A C & @W A H
He-AT B ?

1) od 2) 104l
3) 1ldf 4) 12df

Teh %= e A § 'CEG' &l ‘TSR’
e 'FH]' & 'QPO' for@r ofram &,
T g9 9w H IKM' & fer
ST

1) NOP
3) NMK

2) NOL
4) NML

el EAML ¥ fhaq @i 91 T
ST Hhd § 7
1) 1
3) 3

2) 2
4) 4

u Frfd sggst 4 o= &oT ud
9@ BT H I 7:2 B, Ao W

TS I TS H A ©
1) 7T 2) 8
3 9 4) 11

el S @l & T 9
BIRECTIE L
2,3, 10, 15, 26, ?
1) 33 2) 34
3) 35 4) 36

[ Level-3/1304 ]

64.

65.

66.

61.

68.

[17/A]

In a class of 35 students, A is
placed Tth the bottom
whereas B is placed 9th from the

from

top and C is placed exactly
between these two. What is A's
position from C ?

1) oth 2) 10th

3) 1lth 4) 12th

In a certain code language 'CEG' is
written as "TSR' and 'FH]J' is written
as 'QPO!', then in the same code
language 'IKM' is written as :

1) NOP 2) NOL

3) NMK 4) NML

How many meaningful words can
be formed with the letter EAML ?

1) 1 2) 2
3) 3 4) 4

The ratio of an interior angle to the
exterior angle of a regular polygon
is 7 : 2. The number of sides of the

polygonis:
1) 17 2) 8
3) 9 4) 11

Find the next term of the following
number series :

2, 3, 10, 15, 26, ?
1) 33 2) 34
3) 35 4) 36

P.T.O.



[18/A]

69.

10.

11.

12.

13.

T A BN TF o Bl b 8 g9 H,
99 B & 34l d% &I oThd 6 gUe H
T o HhaT 21 IR QST A B T
Y 2 99¢ % o e & 9Lerq Ad
A P F< FK A Y, A 7@ B W
ST & e AT T ?

1) 2 g2 ¥ 2) 2% gue §

3) 3y {  4) 3% gUe H

gfe fordl ffea Yot & 38 « 15 = 32,
62 %91 =7 qUT 74 + 81 =29 &, a
3 Yod H 47+ 33 HT 9 B -

1) 40
3) 38

2) 41
4) 53

g 17 fE=R, 2002 @ AFER o,
o 22 RE=R, 2004 @ H=-d1 A
qr ?

1) aar
3) THER

2) ER
4) HIAR

Ioff 1 SFET T B

Z1A, X2D, V6G, T21], ?
1) R8TM 2) R8IN
3) R88P 4) R88M

IS Ui H, & AP o
AN STel & HeY Blg T P&

e uh § FH o 9wl g,
frfafag At § fm- 39w
T I B B 7

1) DJOTV 2) DJOSV

3) DJOSW 4) DIOSU

[ Level-3 /1304 ]

69.

10.

11.

12.

13.

Pipe A alone can fill a tank in 8
hours. Pipe B alone can fill it in 6
hours. If both the pipes are opened
and after 2 hours pipe A is closed,
then pipe B will fill the tank in :

1) 2hours
3) 3hours

2) 2% hours
4) 3% hours

In a certain pattern, if 38 * 15 = 32,
62 * 91 = 7 and 74 * 81 = 29, then
in the same pattern the value of
47 % 33 is:
1) 40
3) 38

2) 41
4) 53

If it was Saturday on 17th

December, 2002, what was the day
on 22nd December, 2004 ?

1) Sunday 2) Saturday
3) Monday 4) Tuesday

The next of the seriesis:
Z1A, X2D, V6G, T21], ?

1) R8TM 2) R8IN

3) R88P 4) R88M

In English alphabet, the number of

letters skipped in between
adjacent letters in the series is
decreased by one. Which of the
following series observes the rule ?
1) DJOTV 2) DJOSV

3) DJOSW 4) DIOSU



14,

15.

16.

11.

18.

x-378, y-3T8] QU 4x+3y =12 &N

M By & SeEa & B @
1) 2 3HE 2) 2.5 THE
3) 3 IHE 4) 4 THE

g8 999 B4 & A Hiow, o
15463 ¥ Siig< WX T IFT%S 107 §

qoicar e & S @
1) 52 2) 55
3) 11 4) 16

gl ® g H fhE oTgu H TR
ST ST fob o [ @l e e W
e T 20% 1 AH & 7

1) 1:5 2) 2:5
3) 3:5 4) 4:5

s iYEd Ui @1 4% affe W ®
2 a9 % fou wHdfs &9 @ WX
& & I ©

1) 52:51
3) 51:50

2) 52:50
4) 53:50

%Ti%A,BHﬂTC%%: ®

A F TN B TH AR A
fFam 4 W& ueag A A STO O @
50% el fdn A 9 & o= H Fu
21,600 YUY FH TN AT &, A W

W |
oo

e

A9 H ABEH REN R
1) 2,400 TG 2) 3,600 TWI
3) 4,000 59 4) 4,200 TUI

[ Level-3/1304 ]

14.

15.

16.

11.

18.

[19/A]

The radius of the circumcircle of
the triangle made by x-axis, y-axis
and 4x+3y =12 is:

1) 2unit 2) 2.5 unit

3) 3 unit 4) 4 unit

Find the least number which must
be added to 15463 so that the

resulting number is exactly
divisible by 107 :

1) 52 2) 55

3) 71 4) 16

What proportion of water must be
added to milk to gain 20% by
selling it at the cost price ?

1) 1:8 2) 2:5

3) 3:5 4) 4:5

The ratio of compound interest and
simple interest on a certain sum at
the rate of 4% per annum for 2

yearsis:
1) 52:51 2) 52:50
3) 51:50 4) 53:50

If A, B and C enter into a
partnership with shares in the ratio

z : 4 : 6 After
2 3 58

increase his share by 50%. If the
total profit at the end of one year
be Rs. 21,600, then B's share in the

profitis:

4 months, A

1) Rs.2,400 2) Rs. 3,600
3) Rs.4,000 4) Rs.4,200
P.T.O.



[20/A]

19.

80.

8l1.

82.

83.

Th ARH 20% BN 9 Uh &
SO B, A I I & 12 FW@
e § o=, af 39 10% H ArH
Bl 3 % H HY YA © -
1) 22 @ 2) 30 W
3) 36 T 4) 40 TW

Ve Va

a%+a” l-a
+

l-a 1++a

a4

1

R B

1) 2)

a

IS

a-1

2
3) 4) i
l1-a

]}
|
—

Qfrerfees g g oTafed © ¢

1) e R
2) FHHEe o |

3) IR ot &
4) Geeh o |

fpe BT ¥ TR, 2023 H AeC
US[d &l B fhar ?

1) G4 fqeeg

2) e fasE

3) I g

4) e

gaen & Mg togaen H 9
P oE W TH SR & ?

1) S gHaR

2) 4 JIwR g S

3) 4t el ST W

4) o gLoid e guarierm

[ Level-3 /1304 ]

19.

80.

8l1.

82.

83.

A man sold an article at a loss of
20%. If he sells the article for Rs. 12
more, he would have gained 10%.
The cost price of an article is :

1) Rs.22 2) Rs. 30
3) Rs. 36 4) Rs. 40
Vo oYVa 1Y
a_+a + 1-a is equal to :
l-a 1++a
a a-1
) — 2) —
) a-1 ) 2
3 2 g 2
a- l1-a

Historical village Sugh is located
in:

1) Ambala district

2) Kurukshetra district
3) Yamunanagar district
4) Panchkula district

Which Haryanvi conquered Mount
Elbrus in August, 2023 ?

1) Sandeep Bishnoi
2) Rohtash Bishnoi
3) Ajay Khichad

4) Mohit

Who among the following Governors
of Haryana was an ICS officer ?

1) Shri Dharma Vir

2) Shri Muzaffar Hussain Burney
3) Shri Hari Anand Barari

4) Shri Surjit Singh Sandhawalia



[21/A]

84. TRIFMIN WU & T W< &L & 84. The evidence of Stupa of Mauryan
period is found at :
1) U H 2) Pyt § 1) Topara 2) Bhiwani
3) g H 4) ead H 3) Thanesar 4) Rohtak
85. TiaT &l @HRIE fhH "W H A 85. Geeta Jayanti Samaroh is
S 8 ? celebrated in the month of :
1) s § 2) AELY ¥ 1) Kartik 2) Margshirsh
3) oM@ T §  4) @Y H 3) Ashvin 4) Shravana
86. BRI JaT H HAYBR AEN & T&A 86. Who is the Chief Commissioner of
SIRER] B E 7 Haryana  Right to  Service
Commission ?
1) & o dio Tl 1) ShriT.C. Gupta
2) ff foog agw 2) Shri Vijay Vardhan
3) @ LEE Yoot 3) Shri Rajesh Khullar
4) A faE T 4) Shri Vikas Gupta
81. UY Mamem & TR § FefaRad 81. Read the following statements
HIE B dfeU : about Sadhu Nischal Das :
() 9E a[g & R (i) He was a Dadu's disciple.
(i) 324 T g&H FER A (ii) He compiled a book 'Vichar
Gehlerd St Hag 3 w9 7 B Sagar' which is in form of
dialogue.
HE??Q@’ & T FIMT - Choose the correct code :
1) ®ad T (i) TR 2l 1) Only statement (i) is correct.
2) Fad HIT (ii) Tt 2l 2) Only statement (ii) is correct.
3) T A P (1) M A & FAT (i) 3) Neither statement (i) nor
el & statement (ii) are correct.
4) A I (@) MR (i) TE 2| 4) Both the statements (i) and (ii)
are correct.

[ Level-3/1304] P.T.O.



[22/A]

88. aRIm ¥ RiwRr U= d% FE Red

g7
1) fiER 2) U
3) =N 4) g

89. BRI Y TWewrl HW TI AHT
ferpre 1S o &l e &9 g8 ?

1) S¥adl, 1967
2) TR, 1966
3) A, 1980

4) SE{l, 1996

90. @Em H 9RAHY
G &l g B 7

1) HHE°d
2) UEId
3) STl
4) HBHEA

e

88.

89.

90.

In Haryana, where the Chinkara
Breeding Centre is located ?

1) Pinjore 2) Panipat
3) Jhajjar 4) Bhiwani

When the Haryana State Co-
operative Agriculture and Rural

Development Board Ltd. was
established ?

1) January, 1967

2) November, 1966
3) March, 1980

4) January, 1996

Where in Haryana, the Indian
Institute of Information Technology
is located ?

1) Sonipat
2) Panipat
3) Ambala
4) Kurukshetra

[ Level-3 /1304 ]
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AT - IV / PART - IV
& / SANSKRIT
fraer : fefafad gl & SR 39 & e @98 S faske g

[23/A]

91.

92.

93.

94.

T IS HISAB: 7
1) Sl 2) H=e:
3) oifasEfr:  4) s

‘T’ - IO aud: ARd -
1) HAY T

2) W HYIFY S

3) Yo UgH e

4) 2fo AT A

AR - Sue: J-rska -
1) T I

2) R Agde:
3) Fag:

[ Level-3/1304]

95.

96.

91.

98.

HART™AY HiceTed Sl 6 ?
1) e
2) St
3) HSiig!
4) TdeE

T+ AT - IO TN TG @0 -
1) SN
2) &I

3) T
4) TEH

HANARGAY Yo TEHLMET: T AR —
1) g

2) QY

3) FELE

4) WWBAA:

ey “eeamt sRTE” -
GGEART STaHrE faehed oy -
1) TISSTA], FE—Id, HE=T|

2) GIOUIT:, ARATI, JS=Tgaq

3) T, WA, TS|

4) FIRE:, T, TS~

P.T.O.
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[24/A]

99. @Y +738 - I AFEYHR TEART - 103. REsdgd’ - @ RE’ g=9@
b R ATAT: B AT T -
2 ¥ 1) &2 f
3) e 2) SR
4) [E %) e
4) FEToT

100. ‘U3 + 9 S P G IR HIq .
104. ‘A v=E Gl faueEdmaRe w9

1) o7 SYLRT: ] -
2) TN o 1) we
3) g R
4) Tgfa: )

4) T

101. I N SPHA T 5%, € @0 -

C .
1) QI HEHSD:

105. ‘PEIsA’ - o gfafoRenia -

. 1) @ + s
2) TFEHROES:
2) fEg + o=
3) HHsH: ) R
3) f@: + s
4) s )
4) Ry + o=

102. ‘TUSH:’ - IOF G ST -
106. TERS<Y: A U1 Hafq —

1) qEEE:

1) O
2) TREAR:

2) HI:
3) I

3) ¥
4) M

4) T

[ Level-3/1304 ]
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101.

108.

109.

110.

Sy dETehITe e ST 7
1) HFeRE

2) A=
3) FERfceRe
4) WHEIN<Y

BEY T AT’ TAE  AHCIHE
g -

1) BEH: [H: 99|
2) BET T I3
3) BE T 4|
4) B T 99

Y T HIFEAT FHA HeTeTT|
SRRl TA: HEwe: |

- FORE T HISABR: ?
1) T
2) s
3) I
4) e

GO FERMHEARE - B R
‘FTEY B G Al ?

1) STUEM e
2) W M
3) I Gall
4) ARSI G

[ Level-3/1304]

111.

112.

113.

114.

[25/A]

‘TN SR @ Bea: IR P
1) gefaeeey
2) IR

3) g=qdl
4) Hfet

g FRiEd FIT - S Giihaus
o AU ferferT: &g ?

4) ordl IS

TEG + FERG - O AfEgE
TeARd —

1) IR
2) TEHIHN
3) IR
4) THEIPRI!

A9 g1 ACABR IqH JEuHae b
w0 &g ?

1) &4
2) [
3) ¥
4)

P.T.O.
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[26/A]

115, “‘HAPARAART B oo g - 119. JEEHSAT: SN add -

Rercrear @ foeed forawg - 1) aEEE

1) el He: 2) STy

2) TeI-He:| 3) aEEgE:

4) Y e

120. ‘g el 3f g - o §HE

116. gy SrerEe faehed e - feremge G —

1) ST TRH-JE-GoaHT IO | 1) e AepAE TRl

2) T faRr-Har-sTameE| 2) FIF T TE

3) B HARI-E-aye| )

) 3) FAG Tl

4) Fn fEdT-agEl s qem:|

117. JIRE - 3 dfefoese: g -
121, SRR & e fhdemt

1 + T d SR
) I AT ANy ufcree:
HLAEHH|
2) JTE + T - T FISAFR: SR ?
3) G + T 1) ST
2) T
H gT + T 3) W
: 4) I
118. TGy drEEEvaEtTy ok -
1) IS 122, “FEISEECN 98 - e IRRRAY ?
2) m 1) =TE:
3 ey 2) A
3) frewy
4) TEEH ) )
4) HEH:

[ Level-3/1304 ]
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123.

124.

125.

126.

‘Goiel STque e o fEdEr &
g ?

1) Sreier

2) FHHMT fadrE
3) HHTTEHIAGHI
4) TEONY AN

A Y - S TR & A 7
1) =N

2) ssfaed= H

3) reTeiedST FHHPT

4) FFHN: P

THEY HRgaXaeierad S & ?
1) TEECT

2) A sl

3) THET YL

4) TTHTE:

TG BEY We fqgwd Tl -
U9 FHa 6 w0 | ?

1) o ¥8 BE: foEmd i
2) T BE HE [ |
3) &N BET ¥e foemed T
4) TEON BEY He fGEmer: T

[ Level-3/1304]

121.

128.

129.

[27/A]

SR AUtk Rl fe g
g ?

1) @9

2) I

3) ¥

4) T

AT - T - - -
) 7 + T

2) §L+§§§r

3) Y+

4) g + T

1) T
2) THE Y|
3) fawe:

4) g

P.T.O.
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[28/A]

130.

131.

132.

‘Ul HENIOT FHER: 37 - &
JHEE 9q -

1) USEGAN

2) TSEFHN:

3) TEHHIR:

4) TEHAR

GO TE-g=d RN R
g -

1) Y-of-STg = Jer fafer:

2) T&-3g-gy = gl feeier:|

3) T-WAH-¥AY = o fawer:

4) T-ire-em = faefrn fwfr:

HAefdaay I sfedivE:  aHE:
SIES I

1) FUE TG S SUEHVH|
2) T §HIY 3fd ST
3) e TH i Hwer)

4) TR 3 STRHEH]

[ Level-3/1304 ]

133.

134.

135.

136.

T o JehR AR geNEden [
T Qg 7

1) U
2) Yy

3) UL
4) iy

T - T W TR FT G I
1) sl

2) N TG

3) TG

4) TRRGARIE:

TN+ A 3T Jan i Tebae
Red &1 T AHREH  THRe
T ?

1) S =SS

2) TE:

3) afiE o

4) ey 9

ARy Frede=d g TR -
1) WHUCEH HS: - i - i ST
2) W FHrS: - g o)
3) W P - TG SRR
4) o FeamHey - g
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[29/A]

137. SEUNSE JEAEE 98 TS &l 141. ‘FHiT EiUd BT - SgER B
$6 ToH IgAT: TR BT STETadI| T €] ?
' ?
T=IST HEH I AR by R
SRR Sk 2) T W
2) HSTHfCRRT: 3) T TR
3) FeNYH: 4) s feem)
4) TR
142. ‘YRAT - TAS HamgHRE HeArEwn:
138. HHNCIEAY HETARAE a0l A — e
1) STepCenITEA: 1) 10/10
2) WEEAM: 2) 10/98
3) THNTE: 3) 10/108
4) FAIEAN:
4) 03/33
139.  rfiisfady 7 ?li P o 143. ‘g + F - IO UOAE THRE
Geeteq e | THNE & GAT WM 7
1) TH
2) agd 1) SChEETeAaE sl
3) |TH 2) T A T AR
4w 3) W fem T e = @
140. TR RVER: BREEWRE: SRR - 4) TR S
SR ART -
1) TH T 144. T3 o: S TBR FoH JeNmae &
Y 1] 7
2) THERUN 39
3) TEU HE frs: sfa 1) e 2) 9o
4) TG AT
3) SUEH: 4) IR
[ Level-3/1304 ] P.T.O.

Download from www.MsEducationTv.com



[30/A]

145.

146.

141.

‘W:’ _
foore: i -

1) Ui <Y G Y

TOF ITIhh—aHTE

2) ®@g g 7 g
3) el § Wt g
4) wwar] § W g

“UE 4+ A - O GiEESdl 99
ferehed FEreg -

1) ORA: - ST AT O
2) TEH: - g A ghREEie|

3) WHM: - ®d ° A FHE A
et

4) WA - UF W I
& |

‘e Tl e S -

1) STHMH, STHMI, STEH:
2) S, AN, AT
3) A, AHEM, AHS:

4) FAHM, A, ACTY

148.

149.

150.

‘foearer’ - 39 999 9 9 -
1) foear: sl a9 9

2) faauifer et o= @

3) fowuri el o= @

4) e ARl = @

TENIRIN-G5N G, foehed fereerg) -
1) SFRUEHAM Bl

2) SRR HOSA:

3) THRE Fuorey|

4) FIIAI S

W o+ & goeeEE ST
o @ Y wE o ?

1) o
2) e

3) g

4) Y

[ Level-3/1304 ]
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% 4 & T [FOR ROUGH WORK]
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6.

usHr B N, I G=h ¥ faiRa @t & & 9 qrEe ™A 6. Answers to questions in answer sheet are to be given by

T’Sﬁ?ﬂ A %, S 7 e R R darkening complete circle using Black ball point pen as shown
O @@ ® @ below :

&Y BN A T W T A ST, IR S A @ # O @ ® ®

T TR § 9@ ¥ The answer will be treated wrong, if it is marked, as given below :
g @ & @ g ® @

R TH Y T GE B A AT E A YR I AT A If you fill more than one circle it will be treated as a wrong

ST answer.

10.

11.

12.

13.

14.

15.

16.

11.

18.

19.

20.

T B FISH-E[W 7 39 e & fom & T@ TRl FE W & HU / Rough work should be done only in the space provided in the

Question Booklet for the same.

T IR F9@ OMR I T T & Sk X AT IR S Sk H I q&a of 9d o1 (Fhe wgs) & T (s 21/
The answers are to be recorded on the OMR Answer Sheet only. Mark your responses carefully. Whitener (white fluid) is not
allowed for changing answers.

TA% U & fow Ru o oar feed § & ofd faee 3 T OMR ST W% W 399 % 99 & & [0 TR FM a6 @Re W W
Th d I JifFT B B I8 IY To Tef o Gl %I / Out of the four alternatives for each question, only one circle for the most
appropriate answer is to be darkened completely with Black Ball Point Pen on the OMR Answer Sheet. The answer once marked is
not allowed to be changed.

et gifda R 5 30 oW T B AT 7 9 Ud 39 W HE I M T ) ot ot i St W # feEiRa e
% oifaftdd o= 9 fo’dl / The candidates should ensure that the Answer Sheet is not folded. Do not make any stray mark on the
Answer Sheet. Do not write your Roll No. anywhere else except in the specified space in the Answer Sheet.

Y- T I T B ANEE T H, Fie e 9 oRRefd § [eT-gRae 0 St T & B § @ R &
@3%_{] Q{Tﬁ a9+ gﬂ?ﬁﬂ T Iuey & Eb'@'lg vnmfn / Handle the Question Booklet and Answer Sheet with care, as under no
circumstances [except for discrepancy in Question Booklet and Answer Sheet Serial No., another set of Question Booklet will not
be provided.]

QQ:T—W/W = ° U T wHiw gt T % ¥ =R’ I ¥ fT€ / The candidates should write the correct Number as

given in the Question Booklet/Answer Sheet in the Signature Chart.

areelt @ qle Ad/H F HAY W R UEEM U & SiiRed R SR @ ureg-ar, a1 ST FEST N ufE, T, AeEd
'#Ff, Wﬁ?ﬁ JUHAT AT TR ST TR & G B S A7 SUART B ﬂfﬁﬁ &t | / Candidates are not allowed to carry any
textual material, printed or written, bits of papers, pager, mobile phone, electronic device or any other material except the Admit
Card and Identity Card inside the examination hall/room.

TR B U8 S TX UA% TRt oo Wae S A o] 9 YN UH @M / Each candidate must show on demand his/her
Admit Card [Roll No.] and identity card to the Invigilator.

F% ordfes @1 wdwe @ AW aqgwi%r & fomm ﬁ'% et ST WM T @gl / No candidate, without special permission of the

Superintendent or Invigilator, should leave his/her seat.

PRI e H AU SR T RU AT O eEm A W AR sWRR fhU A ol wlen & e 818 ARk fed vl A
A R WK A W EWRR Te Y q a8 A O % I IO T AE Aern & AR Fe ST | H A qE S
OMR T T% 7 FHiRG @M R ¥ 7wl art a1 e & SfS &1 MM @ oI 81 oS & Femey e & &6 919 &
& Tl WY R @ g A & & @nd oy oniq W@l # AEn 7 9gd 3 & q 7 & §gd B / The candidates should not
leave the Examination Hall without handing over their Answer Sheet to the Invigilator on duty and signing the Signature Chart
twice. Cases where a candidate has not signed the Signature Chart second time will be deemed not to have handed over the
Answer Sheet and dealt with as an unfair means case. All candidates have to affix left hand thumb impression on the OMR
answer sheet at the place specified which should be properly inked i.e. they should not be either over inked or dried in
nature.

sﬁ’ﬁ‘rﬁm/mﬁﬁ UReheih 1 SUANT At 81 / Use of Electronic/Manual Calculator is prohibited.

T B A SERer % _fow, orelt Rerfem & & T sien/Rer-FRw @ 98 & @i et @ B @ R am w0 ol e &
ol T W O S & e w e & FEAR 8Tl / The candidates are governed by Guidelines/Procedure given in the
Information Bulletin, all Rules and Regulations of the Board with regard to their conduct in the Examination Hall. All cases of unfair
means will be dealt with as per Rules and Regulations of the Board.

el e & QQ:T—W AN TR TF H Eﬁlg AT ST 7 & (No part of the Question Booklet and Answer Sheet shall be detached
under any circumstances.

ThE T BN W, ol e /2TA Bie @ Jd IR U he-TdaEd d ofasd A 31 oned o | 39 UsH-gRad @ & o we
% /on completion of the test, the candidate must hand over the Answer Sheet to the Invigilator in the Room/Hall. The candidates
are allowed to take away this Question Booklet with them.
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